
302 THE  COM PLETE  FAS TENER LINE   "SINCE 1916"  © Copy right 2013, Au-ve-co Prod ucts Co.

Sec. 15 “6500” SE RIES LARGE DRAWER “FIX-KITS”â®

â

No. 6554 “Fix-Kit”
J.I.S. Hex Flange Bolts

& Spin Lock Nuts
21 Va ri et ies, 322 Pieces

Auveco
Part No. Size

17315 M6-1.0 x 12mm
17316 M6-1.0 x 16mm
18807 M6-1.0 x 20mm
21048 M6-1.0 x 25mm
18808 M6-1.0 x 30mm
18809 M6-1.0 x 40mm
18980 M8-1.25 x 12mm
17387 M8-1.25 x 16mm
17388 M8-1.25 x 20mm
21051 M8-1.25 x 25mm
17389 M8-1.25 x 30mm
21052 M8-1.25 x 35mm
17390 M8-1.25 x 40mm
21053 M8-1.25 x 45mm
17188 M10-1.25 x 16mm
17189 M10-1.25 x 20mm
21054 M10-1.25 x 25mm
17190 M10-1.25 x 30mm
21055 M10-1.25 x 35mm
17191 M10-1.25 x 40mm
21056 M10-1.25 x 45mm
16769 M6-1.0 Nut
16830 M8-1.25 Nut
16470 M10-1.25 Nut

You Can Email

Your Suggestions

For New Assortments

To: mail@auveco.com

We Welcome All

Your Suggestions

No. 6538 “Fix-Kit”
Cyl in der Head & Man i fold Studs

24 Va ri et ies - 120 Pieces

Auveco   Dimensions
Part No.  A    B

9667 A: 1/4"-28 x 7/16"
B: 1/4"-20 x 7/16"

9669 A: 1/4"-28 x 3/4"
B: 1/4"-20 x 1/2"

9674 A: 5/16"-24 x 5/8"
B: 5/16"-18 x 1/2"

9675 A: 5/16"-24 x 5/8"
B: 5/16"-18 x 3/4"

9676 A: 5/16"-24 x 7/8"
B: 5/16"-18 x 9/16"

9677 A: 5/16"-24 x 1"
B: 5/16"-18 x 9/16"

9679 A: 5/16"-18 x 7/8"
B: 5/16"-18 x 7/16"

9683 A: 3/8"-24 x 3/4"
B: 3/8"-16 x 1/2"

9684 A: 3/8"-24 x 3/4"
B: 3/8"-16 x 1/2"

9686 A: 3/8"-24 x 1"
B: 3/8"-16 x 5/8"

9687 A: 3/8"-16 x 1-1/8"
B: 3/8"-16 x 5/8"

14827 A: 3/8"-16 x 1-1/2"
B: 3/8"-16 x 7/16"

9689 A: 3/8"-24 x 1"
B: 3/8"-16 x 3/4"

9690 A: 3/8"-24 x 2"
B: 3/8"-16 x 5/8"

9692 A: 3/8"-16 x 1-5/8"
B: 3/8"-16 x 7/16"

9701 A: 7/16"-20 x 7/8"
B: 7/16"-14 x 3/4"

9705 A: 7/16"-20 x 3/4"
B: 7/16"-14 x 3/4"

9711 A: 7/16"-14 x 1-1/4"
B: 7/16"-14 x 3/4"

9715 A: 7/16"-20 x 1-13/16"
B: 7/16"-14 x 3/4"

9728 A: 1/2"-20 x 15/16"
B: 1/2"-13 x 13/16"

9731 A: 1/2"-20 x 1"
B: 1/2"-13 x 3/4"

9732 A: 1/2"-20 x 2"
B: 1/2"-13 x 3/4"

11982 A: M8-1.25 x 22mm
B: M8-1.25 x 10mm
     40mm Over all

11983 A: M8-1.25 x 22mm
B: M8-1.25 x 10mm
     45mm Over all

No. 6524 “Fix-Kit”
Spe cial Pur pose

Well Nutsâ & Jack Nutsâ

(O.E.M. Ap pli ca tion)
GM -Ford -Chrys ler -AMC
12 Va ri et ies - 170 Pieces

Con tains the fol low ing Auveco

Part Num bers: 12995, 12999,
13004, 13007, 13008, 13009,
13010, 13014, 13016, 13017,
13231 & 16253

No. 6502 “Fix-Kit”
Tu bu lar, Flat, “U” & “J” Nuts

24 Va ri et ies - 515 Pieces

Auveco
Part No. Size

1903 1/4"-20 Flat
2089 #6-32 Flat
2092 #10-24 Flat
2099 1/8" Stud Flat
2103 3/16" Stud Flat
2105 1/4" Stud Flat
2293 1/4"-20 “U”
2346 #8 “J”
2422 #10 “U”
2595 1/8" Stud Tu bu lar
2611 1/8" Stud Tu bu lar
5170 3/8"-16 “J” Cage
5197 #10-24 “U”
5586 1/4"-20 “J” Cage
5589 5/16"-18 “J” Cage
9879 #8 Spring “U”
9880 #8 Spring “U”

10064 #6 Spring “U”
10065 #8 Spring “U”
10066 #10 Spring “U”
10067 #14 Spring “U”
10666 #8  “U”
11292 #8 “U”
11429 #10 “U”

B A


